What went wrong at Gallipoli in 19157
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SOURCE 4: A document (‘appreciation’) in which Churchill set out the arguments he would use in a War Council meeting, dated 25 February

1915 (CHAR 2/74/57)

On a scale of 1-5 how far do you
agree that this source supports
this inference?

Which extract(s) from the source support your argument?

An attack on Gallipoli
seems like a sensible
plan of action.

Churchill doesn’t have
the full support of the
Council for this plan.

This new planis a
major change from the
original plans.

There are plenty of
troops available.

Churchill’s plans seem
over-optimistic.




